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Pos Aut ESCUDERIA Mot Nac Pts .1° dif Pole 1° 2-34-10 Motor - Patroc 1 AUS 2 MAL 3 CHN 4 TUR 5 ESP 6 MON 7 CAN 8 EUR 9 GBR 10 ALE 11 HUN 12 BEL 13 ITA 14 SIN P 16 Quig 17 IND 18 ABD

1° [ 2 RED BULL - Re =& 650 18 KPY 15 © Gl © [ 35 37m by 148]kyg 185\ 222[ 33 255y 295] 33 328 27 355] 28 383 426y 451 Ry 491] 27 518 40@ g 595 12 607|ks
2° | 2 MCLAREN - Me — Bk 497 | 153 [ 153 1 =) 26 26(22 4S|EN 20 105[ 33 138[ 23 161 186| 20 206| 12 218|JBE] 243||E%] 280| 15| 295| 30| 325| 28| 353 388[ 30 418| 24 442|JfY 482
3° | 2 FERRARI ® B W 373|217 | 124 14 50 15 65| 10 7518 93 s 101|28 129]% 164|28 192|238 215| 14 22923  252| 14 266) 24 290| 18 308| 15| 323 28| 351| 22 373
4° | 2 MERCEDES _(A)%% 165] 485 9 123| 4 127| 18 145[ 14 159] 6 165
5° | 2 RENAULT S B BAEE 2 74 T4 T4 T4l 1 T5
6° | 2 FORCE INDIA- ~* 581 48| 1 49 2 51| 6 57[12 69
7° | 2 SAUBER-Fer S 606 40| 40| 1 41| 1 42| 2 44
8° | 2 TOROROSSO == 609 29 8 37 4 4 4 4
9° | 2 WILLIAMS - Co @ 645 5 5 5 5
10°[ 2 LOTUS - Renat @® 650
2 VIRGIN - Cosw: g2 650
2 HISPANIA - Co - & 650
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—C—RED BULL - Renault (Aut) 40 -
Red Bull 420 +
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—2— FERRARI (lta) 340 4
Marlboro 320 -
©- MERCEDES (Ale) 300 1-
Petronas 280 +-
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